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s 250,000
< 100,000
Al 150,000
01 A& HI 496,400 800,000 A 303,600
OSAHE(SHXNF) St FHAMY
500,000,000& *99.28% 496,400
s 248,200
< 99,280
Al 148,920
03 AlE 2 THHI 3,600 0 3,600
OSHE(SHXNF) St FHIAMY
500,000,000& *0.72% 3,600
s 1,800
< 720
Al 1,080
HRas(tdsZn) 417,661 375,981 41,680
HWEAHAXE(AHES21) 417,661 375,981 41,680
HWEAHHX S (A S21) 417,661 375,981 41,680
702 013HES 417,661 375,981 41,680
IS8 E3 417,661 375,981 41,680
OM:t2eldg d&E3 417,661,000 417,661
P2 (A SZ ) 53,520 53,640 A 120
Jledul (¢ Es2 ) 53,520 53,640 A 120
Jladbl (et &2 ) 53,520 53,640 A 120
201 Let24d] 28,920 29,040 A 120
01 At 22/l 28,920 29,040 A 120
022+ 28,920
o Mutatsa X =G 60,0003 «117L*1H 7,020
o Miutatetal =25 60,000 «365 x1H 21,900
202 O4dl 20,400 20,400 0
01 = LH 4 bl 20,400 20,400 0
OZE =20 100,000& = 17H 128 20,400
203 YR =&t 4,200 4,200 0
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